
Solve Me!
Show your work and include

the "therefore" statement

Land takes up only 29% of the Earth's surface. The
rest is covered by the World Ocean. What area is
covered by the World Ocean if the total surface area
of the Earth is 510.1 million km² ?

It takes a helicopter 4 hours to fly 420 kilometres.
How many kilometres can it fly in 6 hours, if the speed
is the same?

510.1 million x 0.71
14
630
Monday

Answers
1.
2.
3.
4.
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How many natural numbers are between 13 and 28?

This year dad's birthday was on Sunday. What day of
the week was mom's birthday, if she is 62 days
younger than dad?


